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QUESTION 1

XYZ Corporation would like a report that shows the number of employees who have been with the company more than
20 years, between 15 and 20 years, between 10 and 15 years, between 5 and 10 years, and less than 5 years. How do
you implement this report using Pega? 

A. Use a SQL Function. 

B. Use a listView with a custom getContent Activity. 

C. Use a correlated subreport. 

D. Use a Connect-SQL rule. 

Correct Answer: C 

 

QUESTION 2

Using the information shown in the case structure below, which option is always true? 

A. Resolution of the Event Booking case requires the Parking case to be resolved. 

B. Parking, Weather, and Hotel cases must be instantiated for the Event case to process correctly. 

C. The Weather case can be instantiated without a parent Event Booking case. 

D. The Parking class must inherit from the Event Booking class. 

Correct Answer: A 

 

QUESTION 3

DRAG DROP 

You are managing distributed, geographically dispersed, development teams A, B and C. 

Team A is ready to merge changes into their development environment to make available changes to Team B\\'s Team
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C\\'s. 

To ensure all development teams are working with the latest version of shared rule base, select and move all of the
following tasks to the tasks List Order column and place them in the correct order. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 4

XYZ, Inc. is multinational software interested in deploying a worldwide application as soon as possible. The application
currently does not have requirements that depend on its user\\'s geographical region. An outside consultant suggested
that the application initially be generated with a framework and implementation layer. 

Which three questions do you ask to validate the outside consultant\\'s recommendation? (Choose Three) 

A. Can the framework layer instead consist of multiple built-on applications? 

B. How many languages and locales must the application eventually support? 

C. Is there a reason why this decision cannot be made at a later time? 

D. Is there an intent to market the framework layer to other companies? 

E. What is the name of the first division or region that uses the application? 

Correct Answer: ACD 
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QUESTION 5

You isolated the problem to node 1 of the cluster. You see node 1 goes down shortly after 3:00 p.m. every day with an
out-of-memory error. Which two alerts typically precede this condition?(choose two) 

A. PEGA0004 ?uantity of data received by database query exceeds limit 

B. PEGA0001 ?HTTP interaction time exceeds limit 

C. PEGA00017 ?Cache exceeds limit 

D. PEGA0002 ?Connect operation time exceeds limit 

Correct Answer: BC 

Explanation: Six weeks after you deliver your application to production, you users report that the application slows down
in the afternoon. The application is almost completely unresponsive for some users shortly after 3:00 P.M. Other users 

do not experience this problem until later in the day. 

You do not have access to the Production environment, but you do have access to AES. The production environment
has three nodes and a load balancer. You need to resolve this issue because a new division of the organization will
start 

using the application next month. 
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